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M SANSH
HF: HER2GIAU(ZAI LS
¢hel: AEL2IH(SAI RS D) (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
QIHA2IHI (S AIRSE D) 62,645 65,942 AN 3,297
101 @14 Hl 62,645 65,942 A3,297
01 2= 62,645 65,942 A3,297
OAtZexE 62,645,000 62,645
Jl2Zdl(ZAlns ) 40,251 43,866 A3,615
J2Z3H(SAnS) 40,251 43,866 A 3,615
201 ¢4l 16,567 15,462 1,105
01 At 22l 13,917 15,462 AN 1,545
O e8| 8,637,000& 8,637
OSZHI(0F222X) 8,000 *15% 24l x 128 2,880
OSHHI(FL22RAH) 8,000 x 159 x20 4 2,400
02 2324l 2,650 0 2,650
OXNsIHM(EESSE) 250,000& x13] 250
OXNsSAHEEHZ(EESE) 600,000 x13] 600
OXNsSUHRAESH(2ESE)
1,800,000& 13l 1,800
202 o4dl 18,884 23,604 N4, 720
01 = LH o4 1l 18,884 23,604 A4, 720
OJdleg =4l 10,416,000& 10,416
OXNEZ =0l 8,468,000 8,468
203 R =&t 4,800 4,800 0
04 FN2ELRZ=TH| 4,800 4,800 0
ORN2IYSFAHI 400,000 x12& 4,800
HRES(RNALZA) 49,900 99,900 250,000
WEHHX = 49,900 99,900 A 50,000
HEHeH X = 49,900 99,900 A 50,000
701 JIEtSI HSEES 49,900 99,900 A 50,000
01 JIEteI HE == 49,900 99,900 A50,000
OFIIBIZHEUHNBLAELEIIHNEES
49,900,000& 49,900




